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Quiz 4 (5 points) 6 February 2004
Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.

Work must be clear

and unambiguous for credit.

N atoms are arranged to lie on a simple cubic crystal lattice. Then M of these atoms are moved
from their lattice sites to lie at the interstices of the lattice, that is the points which lie centrally
between the lattice sites. Assume that the atoms are placed in the interstices in a way which is
completely independent of the positions of the vacancies. Assume that there are NV interstitial sites
where displaced atoms can sit. Suppose that the energy required to move an atom away from its
lattice site into any interstitial site is e. So, the energy is U = Me. Show that
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